
	


CH15 MARKETING QUIZ

	1.
	Individuals and firms involved in the process of making a good or service available for use or consumption by consumers or industrial users are considered members of a: 

	A)
	distribution line. 

	B)
	marketing channel. 

	C)
	consortium. 

	D)
	cartel. 

	E)
	distribution mix. 


	2.
	Rob stops at the supermarket to purchase a package of Oreos and other groceries.  He is the ultimate consumer in a pipeline from the producer through intermediaries including the grocery store. This pipeline is actually a: 

	A)
	consumer market. 

	B)
	marketing intermediary. 

	C)
	marketing channel. 

	D)
	transactional function. 

	E)
	logistical function. 


	3.
	You probably own several pairs of blue jeans.  Further, it is highly likely you purchased those jeans at retail stores located in a shopping mall.  It is quite unlikely you bought the jeans directly from the manufacturer.  In fact, most goods are brought to you via a(n) _____, which consists of several organizations involved in the process of marketing products or services and making them available for our use as consumers. 

	A)
	organizational chain of command 

	B)
	organizational hierarchy 

	C)
	marketing channel 

	D)
	marketing hierarchy 

	E)
	marketing chain of command 


	4.
	Two students, Nick and Lee, were studying for an upcoming exam in their introduction to marketing course. While studying the chapter on marketing channels and wholesalers, Nick made the following statement: "If it weren't for wholesalers and other intermediaries in the channel of distribution, the products we buy would cost a lot less!"  After contemplating Nick's statement, Lee said, "Wait a minute.  We learned in class that channel intermediaries actually make marketing more efficient by minimizing the number of transactions necessary to sell products."  Lee's statement refers to: 

	A)
	value created by channel intermediaries. 

	B)
	channel intermediary development. 

	C)
	price inflation by channel intermediaries. 

	D)
	channel intermediary promotional efforts. 

	E)
	an inaccurate statement by Lee; Nick was correct. 


	5.
	Intermediaries make the selling of goods more efficient by: 

	A)
	maximizing the number of contacts necessary between producer and consumer. 

	B)
	identifying target markets. 

	C)
	reducing manufacturing costs. 

	D)
	minimizing the number of sales contacts between producer and consumer. 

	E)
	eliminating inventory costs. 


	6.
	The three basic functions performed by intermediaries are: 

	A)
	accommodating functions, logistical functions, and transactional functions. 

	B)
	implementation functions, accommodating functions, and contractual functions. 

	C)
	contractual functions, facilitating functions, and logistical functions. 

	D)
	facilitating functions, accommodating functions, and implementation functions. 

	E)
	transactional functions, logistical functions, and facilitating functions. 


	7.
	Transactional function activities involve: 

	A)
	buying, selling, and risk taking. 

	B)
	assorting, sorting, and storing. 

	C)
	financing and grading. 

	D)
	transportation. 

	E)
	marketing information and research. 


	8.
	Facilitating function activities include: 

	A)
	buying and selling. 

	B)
	assorting, sorting, and storing. 

	C)
	financing, grading, and marketing information and research. 

	D)
	risk taking. 

	E)
	transportation. 


	9.
	Intermediaries perform facilitating function activities, which assist producers in making goods and services more attractive to buyers.  These activities include: 

	A)
	producing, assembling, and distributing. 

	B)
	transportation and distribution. 

	C)
	buying, selling, and risk taking. 

	D)
	assorting, sorting, and storing. 

	E)
	financing, grading, and marketing information and research. 


	10.
	A snack vending machine located in a motel at which you arrive at 2 A.M., and you are hungry creates _____ utility. 

	A)
	time and creation 

	B)
	place and time 

	C)
	form and place 

	D)
	possession and form 

	E)
	application and time 


	11.
	An artist can buy white blank dishes and figurines, glaze (paint) them, fire the glazed pieces in a kiln, and sell the finished work to customers.  By decorating the pieces and increasing their aesthetic value, the middleman artist creates _____ utility. 

	A)
	form 

	B)
	application 

	C)
	possession 

	D)
	time 

	E)
	place 


	12.
	All of the following factors affect the final choice of a marketing channel by a producer EXCEPT: 

	A)
	changes in consumer purchasing behaviour. 

	B)
	the stage in the product life cycle. 

	C)
	corporate tax legislation. 

	D)
	environmental factors. 

	E)
	the firm's financial, human, and technical capabilities. 


	13.
	The three degrees of distribution density are: 

	A)
	intensive, extensive, and selective. 

	B)
	extensive, concentrated, and selective. 

	C)
	intensive, exclusive, and selective. 

	D)
	extensive, pervasive, and concentrated. 

	E)
	concentrated, exclusive, and intensive. 


	14.
	When Kraft Foods introduced Planters Trail Mix snack food, it was a low-involvement convenience product.  Which type of distribution should Kraft have used with this new product? 

	A)
	exclusive distribution 

	B)
	direct distribution 

	C)
	intensive distribution 

	D)
	dual distribution 

	E)
	selective distribution 


	15.
	For which of the following products would the manufacturer be most likely to use exclusive distribution? 

	A)
	Timex watches, Hanes underwear, and Nike shoes 

	B)
	Chanel perfume, Steinway pianos, and Baccarat crystal 

	C)
	Oreos, Teddy Grahams, and vanilla wafers 

	D)
	paper clips, light bulbs, and file folders 

	E)
	Lean Cuisine meals, Breyer's ice cream, and Coca-Cola 


	16.
	Which of the following is a major consideration for satisfying buyer requirements when designing distribution channels? 

	A)
	information 

	B)
	convenience 

	C)
	variety 

	D)
	attendant services 

	E)
	all of the above 


	17.
	The two types of channel conflict are: 

	A)
	divisional and organizational. 

	B)
	horizontal and vertical. 

	C)
	transactional and transformational. 

	D)
	external and internal. 

	E)
	supervisor-subordinate and subordinate-subordinate. 


	18.
	_____ conflict occurs between two different levels in a marketing channel. 

	A)
	Corporate 

	B)
	Horizontal 

	C)
	Vertical 

	D)
	Administered 

	E)
	Contractual 


	19.
	Which of the following is NOT a source of vertical conflict? 

	A)
	when different types of retailers sell the same brands 

	B)
	when channel members disagree on how profit margins are distributed among channel members 

	C)
	when a manufacturer increases its distribution coverage in a geographic area 

	D)
	when a manufacturer believes a wholesaler or retailer is not devoting sufficient attention to its products 

	E)
	when a channel member bypasses another member and sells or buys a product direct 


	20.
	A channel member who coordinates, directs, and supports other channel members is called a: 

	A)
	product champion. 

	B)
	product captain. 

	C)
	channel captain. 

	D)
	director of distribution. 

	E)
	channel coordinator. 


	21.
	Which of the following is the source of power determining which channel member will be the channel captain? 

	A)
	economic power 

	B)
	expertise 

	C)
	identification with a particular channel member 

	D)
	legitimate rights through contracts 

	E)
	any of the above 


	22.
	Lab Safety Supply is a large distributor of MRO items and a channel captain.  It requires its suppliers to meet strict quality standards.  It now wants greater price breaks from its suppliers so it can promote lower prices in its newest catalog.  The source of Lab Safety Supply's power is: 

	A)
	its economic influence. 

	B)
	its expertise. 

	C)
	its identification with a particular channel member. 

	D)
	its legitimate rights through contracts. 

	E)
	all of the above. 
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